CHANFOR

g8 TFERITSIE

Technical Cooperation with Chandox

CHANDOX CHANFOR




CHANE®R:

2 TFEHRITSIF

Techn/cal Cooperation with Chandox

03 g#uIs
08 EiFGB

04 g#lIs
09 EiFGB

s BV =T\-R&
3-JAW POWERFUI TYPE
SCROLL CHUCKS

B = T\R&
3-JAW SCROLL CHUCKS

SC-03 12 SC-04 13 SK-03

1EI ST\ Em
INSIDE OUTSIDE TOP JAWS

SOLID JAWS SOLID JAWS

i

-—
w4 — W o
‘ 1 Y Vo~ |\ &l
.

/\‘ \

s

—\-!'Y

SN {11
- !

CHRARE RIEA
FIBiR R S NS EE R
FIBIR s St RIFT IS E e R AR
Bl R E S E R

i

i

i

4”
f

e
s pe "J
1 N‘F[\!‘
T A g

2025 F B iE 1 :FIII%E/?QUPJ* x_llsfn

CHANFOR HIGH PRECISION CHUCKS SERIES

06 g#JIS

05 g#Is 10 Et=GB

07 g#vIs

SERSIZEFNELPU - RE
4-JAW POWERFUI TYPE
SCROLL CHUCKSS

ZEANTIPY R £
4-JAW SCROLL CHUCKS

sl JIBIN7 T
POWERFUL TYPE
VERTICAL CHUCKS

B-A2 19 SO

AU ZEREERR sERFI4JTC
A2 STYLE MOUNTING POWER SOFT
PLATES

SK-04 16 SJ

K JHESEI
MASTER JAWS SOFT JAWS

High Precision Concepts
===l provides high precision chucks of excellent quality.
=i~/ ==)= provides high precision chucks of innovative design.

=12/4\ === provides high precision chucks of professional manufacture.



01

7l

;Egjiﬁj CAMS ESANVILINAS)
sRJEESRRE

1TIRFNRBEMI0HA, EEIEEEER.
2. FBigit, IEMMmINIZEFKE.
3.9MEROEIRIT, BHES.

4 BHBIGTRIEBEM,

( RBEEE

1.2, #. E)Rit, ERFIHENRSE.
2 HiktaiER, BREMRFEETS.
3.MEIAFE, WAMtERE.

4. RMERXFHFMAIRIT, RIEHE.

5.2 "R ITHXIF0.8mm,

1.IEE. RAXR, IXWMHRER.
2. ERFRIRMIFIE.
. RIEMIERERRE.

F=anie B EE

Description of product selection

SENBISKRIRE2
RAS A A IR EE RSO RFIB AR

POWERFUL TYPE SK SERIE SCROLL CHUCKS
-Adopted with two-piece jaws
-Soft jaws are available.

LiEBSCRYIR&
SRAEARFM
FRFELE—EEN, MEHHE—BIRMI

SC SERIE SCROLL CHUCKS

. Adopted with two sets of hard sold jaws

- A set of inside jaws are adopted with chuck, and
packed with a set of outside jaws.

EERz R A

Mounting Style Options

BEZF=LAAFE, FESHUARNGSAEAM (ME) , piFBEAREMNERE.

There are two mounting style: Front mount style & Rear mount style(see drawing).

SK-08
IR R

Front mount

AUEFARFL

Front mount style

SK-08

BB
Rear mount

[REHIEFL

Rear mount style

02



3-JAW POWERFUL TYPE SCROLL CHUCKS

SROBI=M=&E

R~E) Dimensions

Hifl JIS

R~ &) Dimensions

Sc 3-JAW SCROLL CHUCKS

HER=N-R&E

| MR EAE
Front Mounting _Ear Mounting /Q
= ==
1—
_________________ “—HiEDS
: -
L K|  w . olgl<
E Q Q| Qv @
P : F
] @ |
—H
MAEEE D Specifications E{7/UNIT:mm
ISPEC A B C D E F G H
SK-04 112 58 80 95 24 4.5 3-M8X1.25P 47
SK-05 132 60 100 115 32 4.5 3-M8X1.25P 57
SK-06 167 66 130 147 45 3-M10X1.5P 68
SK-07 193 76 155 172 58 3-M10X1.5P 82
SK-08 203 76 160 176 58 3-M10X1.5P 82
SK-09 233 84 190 210 70 5.5 3-M12X1.75P 93
SK-10 273 86 230 250 89 5.5 3-M12X1.75P 102
SK-12 310 96 260 285 105 7 3-M12X1.75P 118
SK-16 405 122 345 375 160 8 6-M14X2P 150
R /S SEOstiE 1EIESEE Max.Gripping Diameter B
MODEL J K L Max.speed HMEIRIE RRIEIE Weight
/SPEC rp.m.(min") O.D.Clamping |.D.Clamping (kg)
SK-04 19 31.5 8 2500 23-2100 235-293 3.45
SK-05 24 36 8 2500 23-2123 @43-g122 5.0
SK-06 26 39 10 2000 28-2160 255-2150 8.6
SK-07 28 43 11 2000 28-2180 262-g170 12.8
SK-08 28 43 11 2000 28-2180 262-g170 14.1
SK-09 32 50 12 2000 211-g220 @70-2210 20.4
SK-10 35 54.5 12 1800 212-2260 280-2250 26.7
SK-12 40 56 14 1800 215-@300 290-2290 39.3
SK-16 50 75 15 1500 230-g400 2110-2380 82.3

03

AIFLEY B2
Front Mounting Rear Mounting /_G
=== =
I
HE=-—it “—u— gals
F
f @
B - &

MIEZEY Specifications E//UNIT:mm
RIS/

Ve A B C D E F G H
SC-03 85 45 60 73 16 35 3-M6x1P 35
SC-04 112 58 80 95 24 45 3-M8x1.25P 42
SC-05 132 60 100 115 32 45 3-M8x1.25P 50
SC-06 167 66 130 147 45 5 3-M10x1.5P 65
SC-07 193 76 155 172 58 5 3-M10x1.5P 75
SC-08 203 76 160 176 58 5 3-M10x1.5P 75
SC-09 233 84 190 210 70 5.5 3-M12x1.75P 85
AU /AR S=EetiE  EEBE Max.Gripping Diameter BE
MODEL K L Max.speed SMRIBIR PIRIEIR Weight
/SPEC rp.m.(min) O.D.Clamping .D.Clamping (kg)
SC-03 11 15 7 2500 22-270 224-064 15
SC-04 14 17 8 2500 23-290 232-084 33
SC-05 16 20 8 2500 23-2110 235-2100 46
SC-06 19 23 10 2000 24-2160 248-2150 7.9
SC-07 22 28 11 2000 24-2180 256-2170 12.0
SC-08 22 28 11 2000 24-2180 256-2170 13.3
SC-09 24 345 12 2000 25-2220 262-6210 19.3

04




R~E) Dimensions

4-JAW POWERFUL TYPE SCROLL CHUCKS

SRADZEDNERIIN-RE

SR BY P T 52

R~ &) Dimensions

4-JAW SCROLL CHUCKS

B JIS

) AFLEL EFLE
Front Mounting Rear Mounting G
T ]
v I 5
L
J_:‘ﬂ_____ K & w1l ool <
8 8 8 8
| © |
B L
MIEZFE ) Specifications E{i7/UNIT:mm
B/ RAE
MODEL A B D E F H
/SPEC C G
PSK-07 193 76 155 172 58 5 3-M10x1.5P 82
PSK-09 233 84 190 210 70 55 3-M12x1.75P 93
PSK-12 310 96 260 285 105 7 3-M12x1.75P 118
PSK-16 405 122 345 375 160 8 6-M14x2P 150
B/ % SsoitE  BIEEE Max.Gripping Diameter HE
’\;lS%EEL J K L Max speed IMZIEIE RlESis= Weight
rp.m.(min”) O.D.Clamping |.D.Clamping (kg)
PSK-07 28 43 11 2000 28-2180 262-g170 12.7
PSK-09 32 50 12 2000 211-220 270-2210 20.8
PSK-12 40 56 14 1800 215-2300 290-2290 43
PSK-16 50 75 15 1500 230-2400 2110-2380 86.7
05

BUFLE [EFLE
Front Mounting Rear Mounting /g
T
= — How gl
Q Q| al @
F
L
B

MFEZ) Specifications E//UNIT:mm
BUE/AE

MODEL A B D E F H

/SPEC C G

PS-07 193 76 155 172 58 5 3-M10x1.5P 75

PS-09 233 84 190 210 70 5.5 3-M12x1.75P 85

PS-12 310 96 260 285 105 7 3-M12x1.75P 110
B/ % S3mitE  BIEEE Max.Gripping Diameter BE

Vo J K L Max.speed IHEIEIE PEIEIE Weight

rp.m.(min") O.D.Clamping |.D.Clamping (kg)

PS-07 22 28 11 2000 24-2180 256-2170 121

PS-09 24 34.5 12 2000 85-2220 262-2210 19.4

PS-12 30 45 14 1800 210-2300 286-2290 38.1

06



3-JAW POWERFUL TYPE SCROLL CHUCKS

sRPOBI= <&

POWERFUL TYPE VERTICAL CHUCKS

sRDBUIS7I &

T LEBHIRFIRIT, EEBEESE.
B#E JIS

2. [REEACEIRIT, REES

3.8 NEIRIT A AL

1. The moveable wrench handle makes chuck operations easier.

2. Chuck flange makes loading and unloading operations
simpler and more convenient.

3. Hard jaws and soft jaws can be used alternatively.

R~E) Dimensions

= i i AUFLEL EFLEY
RTJ- >> Llsicions B1 B Front Mounting Rnear Mounting @
B2 /[
?’T—"'_"'_"ZE - é Pt {
—_ 4* —_ E I ]
- g St
""""""""" g s
K = | — | _ _:__ K W . Ol <
— & Q Q| o ®
g 4 Wy ] % L _________________ :I E
31=5: ] @ '
T i L "
T ]
bl —f
HMIEEE ) Specifications E{7/UNIT:mm &) Specifications ££7/UNIT:mm
BUSC/AHS B/ A
MODEL Al A2 B1 B2 E H J MODEL A B C D E F G H
/SPEC /SPEC
NSK-05 132 182 76 16 32 57 24 SK125 127 60 95 108 30 5 3-M8 57
ELSHE 167 217 84 8 4> 68 26 SK160 164 66 130 142 45 5 3-M8 68
NSK-08 203 263 96 20 58 82 28
SK200 203 76 165 180 65 5 3-M10 82
NSK-10 254 315 104 16 81 102 35
NSK-12 310 373 118 2 105 118 40 SK250 254 84 206 226 81 6 3-M12 102
NSK-16 405 470 126 24 160 150 50 SK315 315 96 260 285 105 7 3-M16 118
B/ A B /A SaliEE 1B1ESBE Max.Gripping Diameter )
IMRIERE ARIEE e == = (=) 25 .Gripping #E
MODEL K L M QD!\('filamping IAD.C{Iam ing Weight MODEL J K L ’r\/laéf rﬁi%q) IMEIEHE MIRIERE Wi‘ght
/SPEC (mm) (mm (kg) /SPEC p.m. O.D.Clamping .D.Clamping (kg)
NSK-05 36 8 13 23-2123 243-2123 8.2 SK125 24 36 8 2500 22.5-g110 238-2125 5
ey 39 10 3 28-2160 255-2150 132 SK160 26 39 10 2000 03-0145 50-2160 8.6
NSK-08 43 11 13 28-2180 @62-2170 22.4
SK200 28 43 11 2000 24-2200 @65-2200 14.1
NSK-10 55 12 16 26-2250 280-2250 36.5
NSK-12 56 14 18 215-2300 290-2290 619 SK250 35 55 12 1800 @6-2250 @80-2250 24.5
NSK-16 75 15 18 230-g400 2110-2380 1143 SK315 40 56 14 1800 210-2315 295-3315 41.2

07

08



SC 3-JAW SCROLL CHUCKS

HiEBEBE =M=

R~E) Dimensions

4-JAW SCROLL CHUCKS

RN BY P T 52

R~E) Dimensions

BIFLEY

EFLE

AIFLE EFLE a
Front Mounting Rear Mounting /_
EE— =
T
T — SHE T
S 8 al 8
F
L
B
HIHEZ ) Specifications 4/ UNITmm
B/
MODEL A B C D E F G H
/SPEC
SC125 127 60 95 108 30 5 3-M8 50
SC160 164 66 130 142 45 5 3-M8 65
SC200 203 76 165 180 65 5 3-M10 75
SC250 254 84 206 226 81 6 3-M12 92
SC315 315 96 260 285 105 7 3-M16 118
B /A0S == ElLEgES 1EIESEE Max.Gripping Diameter %
MODEL J K L Max.speed HMEIRIE REEE Weight
/SPEC rp.m.(min) 0.DClamping  1.D.Clamping (kg)
SC125 16 20 8 2500 @2.5-9110 238-2110 4.4
SC160 19 23 10 2000 @3-2145 250-2160 7.8
SC200 22 28 11 2000 24-2200 @65-2200 13.3
SC250 26 34 12 1800 26-2250 280-2250 22.8
SC315 30 45 14 1800 210-2315 295-2315 38.5

09

Front Mounting Rear Mounting /Q
ﬁz E P/
T
=11 I Kl wl_ |l olal<
S 8 al ®
F
L
B

MIEZFE Y Specifications EAf/UNIT:mm
B/

MODEL A B C D E F G H

/SPEC

PS160 164 66 130 142 45 5 3-M8 65

PS200 203 76 165 180 65 5 3-M10 75

PS250 254 84 206 226 81 6 3-M12 92

PS315 315 96 260 285 105 7 3-M16 118
I, /A Bl BEEIR B4R Max.Gripping Diameter e

MODEL J K L Max.speed HMEIRE RRiEE Weight

/SPEC rp.m.(min’) O.D.Clamping  I.D.Clamping (kg)

PS160 19 23 10 2000 23-2140 250-2160 8.5

PS200 22 28 11 2000 24-3200 265-2200 15.5

PS250 26 34 12 1800 26-2250 280-2250 23

PS315 30 45 14 1800 210-2315 295-2315 394

10



SC'03 INSIDE SOLID JAWS

IEM

SPECIFICATIONS

HfEi5e8s

R~ &) Dimensions

SC-07-03
— 1

EEs M 15 EM

B

AT

Common  Spec Inside solid jaw
B A
S D2
- AE D3
ZSEES
v . D1
iz
F143K) Parts list MIEZFE Y Specifications #(/UNIT:mm
B/ nFCE=3EEE SRS
L MODEL Inside Jaws Clamping Range Matched Model
NO. ZHR Name of parts / SPEC. A B C D1 D2 D3
1 ICSE=T Body $C-03-03 35 11 28.8 2-35 24-44 42-64
2 TR B Scroll
$C-04-03 42 14 345 3-43 29-57 55-84
3 1EJT Inside solid jaw
4 = Outside solid jaw $C-05-03 50 16 42 3-46 33-67 65-100
=~ OSLEFA CA
> FEER / ite Pinion SC-06-03 65 19 466 4-65 44-106 88-150 SC160
6 I Back cover
$C-07-03 75 22 57 4-71 49-120 99-170  SC-08/SC200
7 TR (BfIH) T-Handle (accessory)
8 izl Grease nipple SC-09-03 85 24 66 5-102 56-154 112-210
9 ~EIEER (B Chuck mounting bolt (accessory)
SC250-03 92 26 66 6-108 57-159 117-220
10 [a=iRL Hexagon socket head cap screw
11 15 Stud bolt $C315-03 118 30 84 10-134 88-212 166-290

11

12



&R 1% % ouTsipe soLip saws
R=m

R~ &) Dimensions

SC-07-04
— 1

BEEER HE Rm

SPECIFICATIONS

HifEi58s

FTMHZEK) Parts list

Common Spec Outside solid jaw B
E3
E1 ~
Ex

HHZZE) Specifications i/ UNITmm
B/ AE RIS EE SRS

MODEL Outside Jaws Clamping Range Matched Model

/R A B C ET E2 E3
SC-03-04 35 11 28.8 2-35 33-55 53-70
SC-04-04 42 14 345 3-43 41-69 67-95
SC-05-04 50 16 42 3-46 44-77 75-110
SC-06-04 65 19 46.6 4-65 50-116 84-160 SC160
SC-07-04 75 22 57 4-71 62-129 112-180 SC-08/SC200
SC-09-04 85 24 66 5-102 66-164 122-220
SC250-04 92 26 66 6-108 78-180 138-240
SC315-04 118 30 84 10-134 94-217 170-300

13

NO. AR Name of parts

1 N / &R Body

2 TR R Scroll

3 IER Inside solid jaw

4 = Outside solid jaw

5 feiZ / ke Pinion

6 IEF Back cover

7 TESRTF (BEH) T-Handle (accessory)

8 a3 Grease nipple

9 REIEEIRL (FIf) Chuck mounting bolt (accessory)
10 i vad Hexagon socket head cap screw
11 GRS Stud bolt

E "4 DRGSR HE N6 R

Note:Chucks above “14" are equipped with 6 pcs of chuck mounting bolts

14



TOP JAWS

Bl ud ] |\

MASTER JAWS

LA

R~E]) Dimensions R~E]) Dimensions

1
ﬂ:: SK-07-03 ﬂ':' SK-07-04
B ERETE L B ERETE L
Powerful type Spec Top jaw Powerful type Spec Master jaw
B | A | A B
|
4 D E
T 1) — PR X F
T T F1 — = F3 iz "_“
* | - F5 ~ ] I~ —
O ! | —~ " 7 S
i I F6
[ [ [ [ 4z
| I Ll n=3 O
[ |
\—D—‘ E
MFEZ) Specifications E(i7/UNIT:mm MFEZ) Specifications E(i7/UNIT:mm
RIS T RS BRI /TG A B C D E F G B
MODEL Inside Jaws Clamping Range Matched Model MODEL Matched Model
/ SPEC. A B C D E / SPEC.
F1 F2 F3 F4 F5 Fo

SK-04-04 45 16 20 24 10.95 7.94 9.55 .
SK-04-03 47 19 28 955 M6*16L 3-36  69-100 35-66  42-73  60-93  3-36 .

SK-05-04 54 20 245 32 12.05 7.94 12.7 SK125
SK-05-03 57 24 32 127 M8*20L 3-45  44-85  43-84 82-123 80-122 3-45  SK125

SK-06-04 65 22 27 38.1 14.55 7.94 12.7 SK160
SK-06-03 675 26 35 127 M8*20L 8-62 60-112 47-102 108-160 95-150 8-62  SK160
SK-07-03 805 28 39 127 M10%20L 8-68 71-119 55-115 132-180 110-170 8-64 SK-08/SK200 B S > 24 30 444 1855 7.94 127 SK-08/5K200
SK-09-03 92 32 455 19.05 M12*25L 11-94 84-156 63-146 148-220 127-210 11-88 . SK-09-04 87 28 34 >4 187 12.7 19.05 .
SK-10-03 102 35 495 19.05 M12*25L 12-124 110-196 74-186 174-260 138-250 12-98  SK250 SK-10-04 96 32 34 54 23 12.7 19.05 SK250
SK-12-03 1175 40 52 19.05 M12*30L 15-143 110-220 81-210 190-300 161-290 15-125 SK315 SK-12-04 111 35 42 63.5 26.45 12.7 19.05 SK315
SK-16-03 150 50 655 19.0S5 M16*35L 30-190 237-300 118-280 337-400 218-380 30-185  -- SK-16-04 142 45 55 76.2 352 127 19.05 .

15 16



HEZEIM

R~E) Dimensions

SJ SOFT JAWS (SJ-SERLES) FOR HYDRAULIC CHUCKS

@ 1.5P N
j

CUSTOMIZED SOFT TOP JAWS FOR HYDRAULIC CHUCKS
JEfRESIHREIIM (M) sEBIE

R~E) Dimensions

1=l SJ-08 (S3:60/A:60)

045 L5
60°
- 5-1 Pitch 1.5 LGEL%E
5-8 5-6
%o 3P o~
? s
f Y o] 7 . :
\ I 1 [ 1 I 'O\\ ©
| v A oz LS
i : i 4 :\) 60°
1 E I l / T T 1
"’f Pitch 3.0 584
54 so/ \mth S
MIEZFE) Specifications ££i7/UNIT:mm
BT/ HEENCIE P8
VoD ST S-2 S3 S4 S5 S6 ST S8 S0 JEEKEE | sE
/ SPEC.
SI-04 495 23 23 10 45 10 14 255  M8x125P  1.5x60° 0.42
$I-05 62 25 30 10 45 10 14 38 M8x1.25P  1.5x60° 0.85
s-06 73 31 36 12 5 15 20 38  MIOXI.5P  1.5x60° 15
$)-08 95 35 38 14 5 24 25 46 MIXIT75P  1.5x60° 2.4
S0 110 40 42 16 5 30 30 50  MI2xI.75P  1.5x60° 36
si12 129 50 50 2 (F=) 39 30 60 MIBXZP(FZ) 5600 6.1
18 (%sK) M14x2P (HsEL)
S5 165 62 62 22 (FRVBUAFE) 57 43 g5 MpoxasP 15x60° 125
255 (1K) 5 (9=K)
$)18 165 62 62 22 (W=) 8 (H=) 37 43 85  M20x2.5P  1.5x60° 12.5
25.5 (L) 5 ($=x)
si21 180 65 70 25 9 40 60 80  M20x25P 3x60° 16.2
Si-24 180 65 70 25 9 40 60 80  M20x25P 3x60° 16.2
)32 180 65 70 25 9 40 60 80  M20x25P 3x60° 16.2
$)-40 180 65 70 25 9 40 60 80  M20x25P 3x60° 16.2

17

P } —
il me s mE 0 AE
Model Spec Height Angle
-1
s-8 7 Ss-6
& 53
o )" 4@@'_' 0.45 V:’;:[
- Pitch 1.5 4BI¥E
,? o~
i 5 i i - o 2R |: -
i 00 v/ l & 0.7 Y=o
L 2N 22 Hor L
== = te Pitch 3.0 HBL¥E
>4 —”1P.—5tX6hO°3. 0X60°
o 2 £
\ YLV,
AR RSTIEESX
Special Requirement for SJ Series Soft Jaws £(7/UNIT:mm
S-1 S-2 S-3 S-4 S-5 S-6 S-7
S-8 S-9 S-10 S-11 S-12
iIEfAIAFT @
Please confirm it by (V) E{7/UNIT:mm
A 60 | 90° 120° | 180° (Pas| | Peo

18




B'AZ A2 STYLE MOUNTING PLATES

A2 BNZEIEE

A2 BN ZEIEE

B'AZ A2 STYLE MOUNTING PLATES

B
. . . . [ J 5
R~E]) Dimensions R~E]) Dimensions *~°
® @/
°
H H
A4 A
$ 4y 3 ¢ T 4y < ¢
| A 11 A
7° 7’3(;i 7° 7’3(;K
G G
B B
MIEZ Y Specifications £f7/UNIT:mm HMIEZ) Specifications E(i7/UNIT:mm
A=/ A& . = BUZ(/AE SERRIS
SRS EREES
MODEL o MODEL
ol A B C D E F G H ) TS ol A B C D E F G H ) i
= - - - * | Tl
BI60A>5 167 25 130 82563 142 1048 45 6MI10  3-M8*125P SC/SK160 (EHFGB) B-09A-6 233 25 10 106375 210 1334 5 6MI2 3MI2TZSP SC/SK09 (RAUIS)
B-00A-8 233 30 190 139719 210 1714 5  6MI6 3-MI2175P SC/SK-09 (BHUIS)
B-06A>5 167 25 130 82563 147 1048 45 6-MI0  3-MI0*15P  SC/SK-06 (BHUIS)
B2S0A-6 254 30 206 106375 226 1334 5  6MI16 3-MI2*175P SC/SK250 (EHFGB)
B-07A25 193 25 155 82563 172 1048 45 6MI0  3-MI05P  SC/SK-07 (BHUIS)
B2S0A-8 254 30 206 139719 226 1714 5  6MI16 3-MI12*175P SC/SK250 (EHFGB)
B-07A26 193 25 155 106375 172 1334 45 6MI12  3-MI05P  SC/SK-07 (BHIS)
B315A28 315 30 260 139719 285 1714 65 6MI16  3-MI62P  SC/SK315 (EHFGB)
B200A>5 203 25 165 82563 180 1048 45 6MI10  3-M105P  SC/SK200 (EHFGB)
B315A-11 315 35 260 196869 285 235 65 6-M20  3-MI6RP  SC/SK315 (EFGB)
B200A>6 203 25 165 106375 180 1334 45 6MI12  3-MI0*15P SC/SK200 (EEHFGE)
B-12A08 315 30 260 139719 285 1714 65 6-MI6 3-MI2175P  SK-12 (BHUIS)
- - - - * | Tl
B08A-5 203 25 160 82563 176 1048 45 &MI0  3MI0TSP - SC/SK-08 (HAVIS) B-12A11 315 35 260 196869 285 235 65 6-M20 3-MI2175P  SK-12 (HHUIS)
B-08A>6 203 25 160 106375 176 1334 45 6-MI12  3-MI10*15P  SC/SK-08 (BHUIS) B-16A-11 405 40 345 196869 375 235 75 6-M20  6-MI42P  SK-16 (EHUIS)

19

20



THE INSTALLATION AND CLAMPING
PRECISION STANDARD

Fr-FEIEESEIRE
2 Sk o 5o & Iy
;Y| ERRTN

POWER SOFT JAWS
SEIIEM

R~E) Dimensions

A
, D
C \ . e
. . |
I } {
: | : T
s | | Master Pionion NY EFLARR
ol ] I ..... | | Master Pionion si
| e <
2 NI
I ! |
I s B e -
F G ‘ ‘ Y
E -
——1 BIS BRI IRFEFLL RIE BRI
ETJ'\ model Radial & Axial Runout Pionion Arrow Position Gripped Test-Bar runout
size a b | C d e f g
3 0.02
8 B 4 0.02 0.05 0.05
MAEEE ) Specifications E{7/UNIT:mm 38 N\ N\
BRIzt /AHG ’ oo R 005 005
M(S)PDEECL A B C D E F G 6/160 0.02 Master Pionion 0.03
/ : 7 0.02 N 0}5 0.04 0.02 0.04 0.02
SO04Jaw 52 30 19 24 9.53 7.94 M6x1P 8/200 0.02 EeTL 50 ' AN AN
= 0.05 0.05
SO05Jaw 62 35 24 32 12.68 7.94 M8x1.25P 9 0.02 Other Than Master Pionion
SO06Jaw 73 37 26 38.1 12.68 7.94 M8x1.25P 10/250 0.02 005 005
SO07Jaw 95 48 31 444 12.68 7.94 M10x1.5P 12/315 0.02 » N N
SO0%aw 110 48 37 54 19.03 12.7 M12x1.75P 16 0.02 005 ' 003 0.05 0.03
SO12Jaw 125 54 42 63.5 19.03 12.7 M12x1.75P
SO16Jaw 160 70 50 76.2 19.03 12.7 M16x2P
SO20Jaw 160 80 55 76.2 19.03 12.7 M20x2.5P R\ fi:lel FIEEE (mm) XIEER Test Ring (mm)
SO25Jaw 160 80 75 76.2 19.03 12.7 M20x2.5P size Dia.of Test Bar P37= Inner Dia YPM= Onner Dia IEE Thickness
YL /AR . 3 8 10 -- 30 60 20
h/AgPE%ECL_ H J K L M N W(ig)ht 4 10 20 - 55 90 20
SO04Jaw 14 11 3 2.5 21 7 0.45 : 10 20 30 60 100 20
SO05Jaw 15 14 3.5 3 24 9 0.9 6/160 20 30 40 75 125 30
SO06Jaw  17.45 14 3.5 3 25 9 13 7 20 30 40 85 150 30
SO07Jaw 253 17 3.8 3 34 11 2.6 8/200 20 30 0 85 150 30
3.6
SO09Jaw 28 19 4.2 3 34 13 o " 20 5% 10 175 20
SO12Jaw  30.75 19 4.2 3 38 13 5.5
10/250 30 40 50 135 215 30
SO16Jaw 419 25 5.5 6 48 17 104
SO20Jaw 419 32 55 6 58 21 . 12/315 40 50 70 150 235 40
SO25Jaw  41.9 32 5.5 6 58 21 - I 70 9> 120 180 310 40

21 22



CHANFOR CHANFOR




